Equilibrium Quiz

1. Initially in a 3 L container, there are 1.2 mol of NO2.  Find all equilibrium concentrations.


2NO2 (( N2O4  
KC = 0.5

2. If at equilibrium in a 4 L container there are 0.6 mol of A, 0.8 mol of B, and 1.2 mol of each C and D, a) Find K.  b) If now there is a new equilibrium with [A] = 0.6 M, [C] = 0.3 M, and [D]= 0.1 M, find [B].

A + 2B (( C + 3D

3.  Initially in a 2 L container, there are 0.8 mol of Q and 1.0 mol of Y.  At equilibrium there are 0.30 mol of Z present.  Find K.


Q (( 2Y + 3Z
